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2.1
() 50
t( ) 24.00
A t(min) 60
f 0.900
A (ha) 2.000
D
1 r=a/ (t"% b) [ a=1452.000 b=7.5000 n=0.7000 ]
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tc = tl + 12
= 30.0 + 30.0
= 60.0 (min)
(min)
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A t( ) = 60 (min)
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360
HER%E © 0.900

R AEA 2. 000 (ha)

- r In

n LLCLDJ ey r (mn/hr) (mvS;?

1 60 57.92 57.92 57.92 0.290
2 120 40.29 80.58 2266 0.113
3 180 31.08 95.94 15.36 0.077
4 240 26.96 107.83 11.90 0.059
5 300 2353 117.67 9.84 0.049
6 360 21.02 126.12 8.45 0.042
7 420 1908 133.57 7.45 0.037
8 480 17.53 140.27 6.69 0.033
9 540 16.26 146.36 6.09 0.030
10 600 15.20 151.97 5.61 0.028
11 660 14.29 157.17 5.20 0.026
12 720 1350 162.04 4.86 0.024
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- r In Q
n TN | (/) nor m/hr)y | (/s)
13 780 12.82 166.61 4.57 0.023
14 840 12.21 170.93 4.32 0.022
15 900 11.67 175.02 4.10 0.020
16 960 11.18 178.92 3.90 0.019
17 1020 10.74 182.64 3.72 0.019
18 1080 10.34 186.21 3.56 0.018
19 1140 9.98 189.63 3.42 0.017
20 1200 9.65 192.92 3.29 0.016
21 1260 9.34 196.09 3.17 0.016
22 1320 9.05 199.15 3.06 0.015
23 1380 8.79 202.12 2.96 0.015
24 1440 8.54 204.99 2.87 0.014
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D
R(m’/hr) 100.0000
2)
f : 0.900
A : 2.000 (ha)
Fc : 5.0000 (mm/hr) = 5.0000 (mm/60min)
i | f ol Ic .
t (min) | (nn/60min) (mm/60min) (mm/60min) (m7/s)
60 2.963 2.667 0.0000 0.000
120 3.173 2.855 0.0000 0.000
180 3.421 3.079 0.0000 0.000
240 3.722 3.350 0.0000 0.000
300 4.095 3.686 0.0000 0.000
360 4.571 4.114 0.0000 0.000
420 5.204 4.684 0.0000 0.000
480 6.094 5.485 0.4846 0.003
540 7.453 6.708 1.7077 0.009
600 9.835 8.852 3.8518 0.021
660 15.357 13.821 8.8209 0.049
720 57.924 52.132 47.1316 0.262
780 22.657 20.391 15.3914 0.086
840 11.897 10.707 5.7069 0.032
900 8.452 7.607 2.6071 0.014
960 6.693 6.024 1.0240 0.006
1020 5.608 5.047 0.0470 0.000
1080 4.863 4.377 0.0000 0.000
1140 4.318 3.886 0.0000 0.000
1200 3.898 3.508 0.0000 0.000
1260 3.564 3.208 0.0000 0.000
1320 3.291 2.962 0.0000 0.000
1380 3.064 2.757 0.0000 0.000
1440 2.870 2.583 0.0000 0.000
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= 52.966
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1.0 2.0 3.0 4.0 5.0
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( )
(m*/s) = (1/360) Fc A
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Q=(1/360) rp £ A
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f -
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) = /
= 0.028 / 0.290
= 9.591
(%)
Al= 2.000 Fc(mm/hr)
= 0.2%0 1.0 2.0 3.0 4.0 5.0
A Q(m/s) 0.006 0.011 0.017 0.022 0.028
(D) 1.918 3.836 5.755 7.673 9.591

FORUMS8



D

2)

3)

R1

R1(mm/hr)

rp fl
57.924

!

0.900

52.132(mm/hr)

rp :
fl :

R2

rp :
fl :

R2(mm/hr)

rp 2
57.924

11.585(mm/hr)

AQ
AQ = (1/360) Fc A

AQ :
Fc :

Fc =

(1/360)

(mm/hr)
2
0.200
(mm/hr)
fl
( )
40.547 2.000

0.225(m*/s)

(m*/sec)
(mm/hr)
(ha)

R1 - R2
52.132
40.547

R1 :
R2 :

Fc

Fc

R1 - R2
52.132
40.547

5.00000

R1 :
R2 :
Fc :

- 11.585

(mm/hr)
(mm/hr)

- 11.585

(mm/hr)
(mm/hr)
(mm/hr)

FORUMS8




= m)

=}

VF :

A

V2 :

=10 VF A

= 10 39.353

= 787.068()
R2+Fc

(ha)

=10 V2 A

= 10 51.589

= 1031.789(n)
R2

(ha)

= +4523% 38 EEFc=5. 000 (mm/hr)

2.000

(mm)

2.000

(mm)

BEM/NT T TS5

57.924
52.132

I i o

FRIFESHEE (mm/hr)

5 10 15 20 25
RE TR MEGERFRA  (hr)
HEATEEE —IRESREER

200
150—
100—
50—

T T T 1

5 10 15 20 30

FORUMS8



- 10 -

D

Qo(m’/s) 2.000
A t(min) |60
f 0.900
A(ha) 2.000
(m F(n) V()
1 0.000 10.000 0.000
2 0.500 20.000 7.357
3 1.000 40.000 22.071
4 2.000 50.000 66.978
5 4.000 100.000 214.119
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a)H=ZHI+1. 2D1

Q=C1 - B1 (H-H1)"*
b)H1+1.2D1 < H < H1+1.8D1
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Q=C2 - D1 * Bly2g (H-H1-0. 5D1)
CAZN~< T RAEHTHEX0.85~0.90, HLARVE X(02=0.6LT %,
Cl= 1.80, C2= 0.60
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t

(min) Qi(m'/s) Qo(m*/s)
60 0.000 0.000
120 0.000 0.000
180 0.000 0.000
240 0.000 0.000
300 0.000 0.000
360 0.000 0.000
420 0.000 0.000
480 0.003 0.003
540 0.009 0.009
600 0.021 0.021
660 0.049 0.049
720 0.262 0.261
780 0.086 0.000
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(min) Qi(m/s) Qo(m’/s) H (m) m) m)

60 0.000 0.000 0.000 10.0 0.0
120 0.000 0.000 0.000 10.0 0.0
180 0.000 0.000 0.000 10.0 0.0
240 0.000 0.000 0.000 10.0 0.0
300 0.000 0.000 0.000 10.0 0.0
360 0.000 0.000 0.000 10.0 0.0
420 0.000 0.000 0.000 10.0 0.0
480 0.003 0.003 0.020 10.4 0.3
540 0.009 0.009 0.048 11.0 0.7
600 0.021 0.021 0.082 11.6 1.2
660 0.049 0.049 0.143 12.9 2.1
720 0.262 0.261 0.438 18.8 6.4
780 0.086 0.000 0.000 10.0 0.0
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